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Indian Politics- An Introduction
Paper - PS-04
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and
C. Strictly follow the instructions given in each part.

fAder: Ig uod ux ‘o', ‘¥’ IR ‘W T wusl § A9 g1 udd
gus H A Y Sl ST P |

Section - A 10 X2=20
(Very Short Answer Questions)

Note: Answer all questions. Maximum word limit is 30 words for
each question. All questions carry equal marks.

gus - 3’
(3fcr ofg ITRIT UL )
fAder: eft ueT o rfarf &1 U weT BT SR 30 9Teq) A 3Mfdp
T g1 Y meAt & 3 9 gl

1) (i) Which Constitutional Amendment changed the
Fundamental Right to Property into a legal right?

g Gdurfies Feme= 7 Fuhy & Aifols TR ol fafdem
JrferepR o gRafefa fopar?
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(i) What is the maximum strength of Rajya Sabha? How
many members are indirectly elected and how many are
nominated by the President in it ?
RIS THT & JTfdhad Aeed AT foha+ 22 99 o fohae
e w3 i g & ofR fpae aseufy grr 5a 2

(iii) Explain the original jurisdiction of the Supreme Court of
India.

TR & Hdied IR & TR §FRBR Dl TS
P

(iv) How can the Governor of a state be removed from his/her

post before completion of term?

ST Bl IAh UG A PRIBIA TR 8 3 gdf by gerT ST
eI & P

(v) Explain the meaning of Mandamus.
TRATGST BT 372 FAHATS |

(vi) Dravida Munnetra Kazhagam (DMK) Party is a regional
political party of ................. (write the name of the state).

s T wemm ({wad.) urdf (X T A
forRaw) @1 et IoFifore get g1

(vii) Point out any two features of Political Party System
prevailing in India.
ARA H AT AeHId Gol aeT &l dig & fJeman
qdigu|
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(viii) Mention any two recommendations of Dinesh Goswami
Committee on Electoral Reforms.

AT GUR &g Tfod e aeamdt |fifr & g g 1o feegt
HIEICICARCKIE

(ix) Point out any four challenges before Indian Political
System?
AR ST aver & dwel fGemM gl IR gkl
BT Il DI

(x) Discuss the nature of financial problems faced by
Panchayati Raj Institutions.
UTICRTST Il & FHel fem il e & Ui &t
[CECE I

Section - B 4%x10=40
(Short Answer Questions)

Note: Answer any four questions. Maximum word limit is 200
words for each question. All questions carry equal marks.

Qs - §
(oTg ITRIT UeA)
fAder: @IS IR U FIRTI TAP T9T B SR 200 T J 31fIp
T g It uet & 3 9 gl

2) “Mixture of both rigidity and flexibility is a characteristic of

Indian Constitution.” Explain.

""HIRAT 3N Ty 1 s IR Ifga 6t v faawdar
HESEEIEY
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Throw light on the actual position of Rajya Sabha.

ST YT Dl Jredfes fRURT IR Uh1eT STty

What is the meaning of Judicial Review? Examine its nature in
India.
TR GRIEAID DT 37ef FIT g ? AR H SHhT Uil Pl URI&m
HIY|

Mention those traditions which have developed in India with
regard to appointment of the Governor.

IR o I15aUTe DY Frgfert Faell fr wReuRiat o1 faepr ganm &
SPT Ieeig DI

“The Governor is more than a mere constitutional head.”
Explain.

"SI HTH FATD THE A 31 gl Fuse Hifsg|

Explain the provision of Right of Constitutional Remedies in
Indian Constitution.

TR Ffaa d fhu U e Su=Rl a1 1SR & Jaes
P TS DI

Point out the hindrances in the path of development of a
healthy political party system in India.

IRA § T SIS Gt el & fAdRT § 31 areft remaii
BT Il DT

What are the challenges faced by the Electrion Commission in
India?

AR § Fafad T & F= g ARl a1 8 ?
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Section-C 2X20=40
(Long Answer Questions)

Note: Answer any two questions. Maximum word limit is 500
words for each question. All questions carry equal marks.
yusg - 9
(e IR o)

fAder : @I T g9 HIIU| ISP U9 &1 IR 500 9Meat I eep =
g1 ) got & 3 I9H B

10) Discuss the provision of the Right to Freedom in the Indian
Constitution.

TR Al o Fad=dr o1 iR Feef uage & e
BT

11) Examine the powers of Governor.

ISIYTA <hl Tfaal bl URI&IOT hIfTy |

12) Examine the nature and significance of Directive Principles of
State Policy.

I & if e Rigral &t Upfr 3R Agwa a1 aie o

13) Discuss the main challenges before Indian politics.

AR ST b TR WRI ATl bl feam iy
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